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Decomposing by Distributing Exit Quiz – Teacher Edition 	         Math 3

Write the appropriate equation for the following descriptions about the array below:



1. The dots grouped into four.
24 ÷ 4 = 6

2. The total rows and columns.
3 x 8 = 24

3. Only 18 dots are red.
3 x 6 = 18 or (3 x 8) – (3 x 2) = 18

Answer the situation below:
The teacher handles 4 sections that total to 32 students. Each section has the same number of students. 

4. Draw an array to represent all the students. 
	



5. How many students are there in 3 sections?
One section has 32 ÷ 4 = 8 students.
[bookmark: _GoBack]8 x 3 = 24 students
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